= —
=7t M &
zg 74 £hol X2t} bl
20213 S7HAME
1. XpXjiH|
LK TR £ H910 x @210 x @80 ea 26,000 |27bHE 20214 058 270p
2021 A|= L QlCH}
2.3 AHH|
E4olg 2l 179,203 |CHBHAM B S| 20211 AHET| Al Z
2508 2l 141,096 |CHBEAA S S| 2021 AMELY| A=




2 % o7t =

LA RIS

S At H| EF 7L (R)
35 4 =2 WL 2 H| Hl2
A
CEIt = = =

1. XX H|
23RN R = H910 x @210 x @80 26,000 26,000 26,000 [27pHE 20214 05€ 270p

[2 Al 26,000 - 26,000
2. ZAH|
Egolg ol 179,203 3,584 3,584 |cietAM S| 20211 AMBEI| A|S = QEHT}
HEOIH ol 141,096 1,411 1,411 |cHszigels) 20219 Aut7| AIS Yt

[& Al - 4,995 4,995
3 7| AH[E|
e ol 74H| 9] 4,995 250 250 |ZSEEAEE 2021 p.219

[& Al 250 - 250

=3 AH|A| 26,250 4,995 31,245




